
Parts whose Ord.No. is stated in full, e.g. 
(Ord.No. 47/11) are not included in the kit.

mit "Ord.No." versehene Teile sind NICHT im 
Bausatz enthalten!!

  Ord.No.68/25

55/5
10x21x5

(S) Ord.No.10/24 (S) Ord.No.10/24Ord.No.35/36

Ø10,0

Ø12,5

55/5
10x21x5

(S)

Ord.No.35/36

Parts whose Ord.No. is stated in full, e.g. 
(Ord.No. 47/11) are not included in the kit.

mit "Ord.No." versehene Teile sind NICHT im 
Bausatz enthalten!!

55/5
10x21x5

53/6

55/5
10x21x5

90025
M2,5x6 (S)

53/6

90530
M3

90025
M2,5x6 (S)

Umbau Alouette II
Hauptgetriebe-Dom, Alu

Ord.No.53/6
04/11

Umbau Alouette II
Hauptgetriebe-Dom, Alu

Ord.No.53/6
04/11

90530
M3

90022
M2x14 (S)

61A 61A

90022
M2x14 (S)

Ø12,5

Ø10,0

(S)

90095
M3x20

90095
M3x20

  Ord.No.68/25


